earch

DT Researc

Payment Terminal Sléd_”_
for DT301XC/ DT301X/DI130101

INSTALLATION GUIDE

Package Contents

1. Payment Terminal Sled with Brackets x 1 set
2. M3*6 Screw x 4
3. M2.5*%10 Screw x 2

Using the POS Handheld Holder

@ Remove the 4 screws then remove
the hand strap; remove the 2 middle
screws from the DT301XC/ DT301X/
DT301T Rugged Tablet.

v b d b
po b

.-

© Unlock the latches, slide upward to
release the brackets from the sled.

-

© Attach the right and left brackets
onto the DT301XC/ DT301X/ DT301T
Rugged Tablet.

1 Use four M3*6 Screws

l Use two M2.5*10 Screws

@ Attach the sled onto the brackets,
slide downward, and then lock the
latches.

DT Res’earch DT Research, Inc.

2000 Concourse Drive, San Jose, CA 95131
www.dtresearch.com Copyright © 2020, DT Research, Inc. All Rights Reserved.

BOG110620 ASSPSS ENG



